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A knot diagranﬂ

8§>3—-1—>7—>9—->4->10->6—>12—>5—> 11> C5,C10
C2 €1 Cf g C3 Cg Cg Ci2 C4 C11

)

Ideals for irreducible component#ﬂ)f Xpar

I =W +u®® 4 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LI*=(u*4u®+...+2u+1)

(i) Arc colorings

= (3)

ag —
az =
a)p =

a7 =

B
a9 = \—ud+u
—ud 4+ ub —ut+1
—ud + 2u8 — 2u* 4 202
—u® 4+ 2u” — 3ud +2ud —u
—uM 4+ —2u" b — w4 u
u?l —4ut? . —2ud
u? —3u + -+ 2ud +u
u?0 — 308 + Tul® — 100! + 100 — Tul? + uf 4+ 208 —3ut +u? 41
w20 — 4418 + 10u!® — 18w + 23u!? — 24419 + 18u® — 10w® + 3u?
—u3? +5u30 - 2u? + 1
—u3? + 6030 + - — 20t + 20
—u3 +6udl + -+ 4ud —u
ann =\ —u® +5u3 +- - +ud+u

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u38 4+ 28u30 + 4435 — 120u3* — 24433 + 36812 4 100u3' — 884430 — 29612 +
1736u?® + 700027 — 2852120 — 1356u?® + 3980u2? + 220023 — 47444?2 — 3040u>' +
4832129 + 3580u!? — 4176u'® — 3616u!” 4+ 301206 + 3108u'® — 1756wt — 224813 +
776u'? +1356ut! — 220u!® — 652u° + 16u® + 260u” + 12u8 — 88uS + 32u? — 4u? — 20u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 W+ 13w+ —du+1
Ca,C7 WP 4 2u+1
€3 u? —u® 4 4200+ 13
C4,Cs5,Co P - 2ut1
€10, C11, C12
9 w3 U e —92u -7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢s Y 21y 4y -1
C2,C7 y? =13y - —dy -1
c3 y*Y — 9y3® + ... + 1752y — 169
506 y39 4 55y3 4 gy — 1
€10, C11, C12
Co y*? — 5y + - 4+ 960y — 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.991889 + 0.0824501

—3.38654 — 2.370321

—8.66369 + 6.453031

IS

0.991889 — 0.0824501

—3.38654 + 2.370321

—8.66369 — 6.453031

<

0.669840 + 0.7924471

—2.96109 + 4.198951

—3.45915 — 2.967261

~
IS

0.669840 — 0.7924471

—2.96109 — 4.198951

—3.45915 + 2.967261

—0.704805 + 0.7634051

2.32305 — 2.082851

0.48249 + 4.557961

—0.704805 — 0.7634051

2.32305 + 2.082851

0.48249 — 4.557961

= —0.654698 + 0.8155151

—13.8160 — 5.28881

—3.98413 + 1.893571

—0.654698 — 0.8155151

—13.8160 + 5.28881

—3.98413 — 1.893571

0.749661 + 0.7380811

3.08458 — 0.820251

3.76726 + 3.285481

0.749661 — 0.7380811

3.08458 + 0.820251

3.76726 — 3.285481

—1.053450 4 0.1045461

—9.10965 + 4.034041

—10.86562 — 4.289871

—1.053450 — 0.1045461

—9.10965 — 4.034041

—10.86562 4 4.289871

= —0.926938

—1.84696

—2.83260

1.084680 4 0.1137471

19.2646 — 4.89991

—10.88316 + 3.338451

1.084680 — 0.1137471

19.2646 + 4.89991

—10.88316 — 3.338451

0.954725 + 0.5484321

—6.57750 — 1.920711

—8.14899 + 2.640081

0.954725 — 0.5484321

—6.57750 4+ 1.920711

—8.14899 — 2.640081

—0.841615 + 0.7194801

—0.29950 + 2.716221

—2.52778 — 3.646831

—0.841615 — 0.7194801

—0.29950 — 2.716221

—2.52778 + 3.646831

—0.900993 +- 0.6499581

—0.39055 + 2.536101

—4.97104 — 1.739861

||| |g|(g|g|g(e|g|g|g|g|g|g|:

—0.900993 — 0.6499581

—0.39055 — 2.536101

—4.97104 + 1.739861

~
IS

—0.997812 4 0.5278621

—17.7602 + 1.54421

—8.40581 — 2.836791

—0.997812 — 0.5278621

—17.7602 — 1.54421

—8.40581 + 2.836791

0.869652 + 0.7722081

—10.18350 — 2.902901

—2.41886 + 2.817551

0.869652 — 0.7722081

—10.18350 4 2.902901

—2.41886 — 2.817551

0.960196 + 0.6986171

2.44032 — 4.665371

2.22438 4 2.856941

0.960196 — 0.6986171

2.44032 + 4.665371

2.22438 — 2.856941

—0.989811 + 0.7036221

1.46134 + 7.656491

—1.60381 — 9.507951

—0.989811 — 0.7036221

1.46134 — 7.656491

—1.60381 + 9.507951

IS RS ESE R B A~

1.013930 + 0.7066381

—3.99832 — 9.857801

—5.28411 + 7.757431




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

1.013930 — 0.7066381

—3.99832 + 9.857801

—5.28411 — 7.757431

= —1.028300 + 0.7105721

—14.9463 + 11.02101

—5.83190 — 6.590191

—1.028300 — 0.7105721

—14.9463 — 11.02101

—5.83190 + 6.590191

—0.273540 4 0.6568441

—15.8067 + 2.71781

—4.22928 — 2.397921

—0.273540 — 0.6568441

—15.8067 — 2.71781

—4.22928 4 2.397921

0.267258 + 0.5771541

—4.96129 — 2.115801

—3.91393 + 3.512801

0.267258 — 0.5771541

—4.96129 + 2.115801

—3.91393 — 3.512801

—0.153346 4 0.3964921

0.057297 + 0.9230481

1.13344 — 7.423331

glele|g|g|g|g|g |

—0.153346 — 0.3964921

0.057297 — 0.9230481

1.13344 + 7.423331




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs w3 130 4+ —du+1
c2,c7 P 4w 2u 1
& wd — w4 20u+ 13
C4,Cs5,Cé

€10, C11,C12

w4 4 2ut1

C9

T = 92u -7




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C8 2Ty 4y — 1
Ca, 07 Y3 —13y%8 4+ —dy —1
“ y*0 — 9y 4 - 4+ 1752y — 169
C4,Cs5,Cé

€10, C11,C12

v £ 55038 1 4y —1

C9

y3975y38+...+960y*49




